Q O
@ @ / Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
6,72 x 100 = 1,734 x 1000 =
3,86 x 1000 = 2,206 x 100 =
6,434 x 100 = 5,98 x 100 =
9,506 x 100 = 6,332 x 10 =
1,728 x 10 = 3,087 x 10 =
4,553 x 100 = 6,701 x 100 =
4,69 x 10 = 9,361 x 10 =
9,244 x 100 = 10, 678 x 100 =
5,133 x 1000 = 6,637 x 1000 =
1,167 x 1000 = 1,258 x 1000 =
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Q& ©
@ @ f Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
6,72 x 100 = 672 1,734 x 1000 = 1734
3,86 x 1000 = 3860 2,206 x 100 = 220.6
6,434 x 100 = 643.4 5,98 x 100 = 598
9,506 x 100 = 950.6 6,332 x 10 = 63.32
1,728 x 10 =17.28 3,087 x 10 = 30.87
4,553 x 100 =455.3 6,701 x 100 = 670.1
4,69 x 10 =46.9 9,361 x10=93.61
9,244 x 100 =924 .4 10,678 x 100 = 1067.8
5,133 x 1000 = 5133 6, 637 < 1000 = 6637
1,167 x 1000 = 1167 1,258 x 1000 = 1258
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